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UNIT-T

) f(x) = %" =~ 9%% + % ~ 1 into factorial
L (@ ':f:'::ﬁz:. and show that /W(y) = (),

find a cubic polynomm] in % for the following
datn using Newton’s forward difference formula:

J(l))
x:0 1 2 3 4 5
Y; -3 8 11 9271 &7 107
9. (a) The function y = f(x) ig given in the pomts 7,3 fJ J,
8, 1), (9, 1) and (10, 9). Find the value of y lﬁf
x = 9.5 using Lagrange’s interpolation formuls

(b) Establish the relations
A AV =VA=A-YV =8

(i) M;%mw)
UNIT-II

8. . (a) Apply Gauss forward difference formula to obtain
f(32) given that .

f(25) = 0.2707, (35) = 0.3386
1(30) = 0.8027 and £(40) = 0.3794
(b) Find ¥ ( 1.5) from tiae foltlowihg data: - 5
XD 007008 10 L 1 "20'. -
v 03989 03521 0.2420 0.1295 00540
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4. (a)

(b)

(b)

Use Stirling’s formula to compute y at x = 19,2

from the following table:

x: 10 112, 13 14

y: 23967 28060 31788 35209 38368

Evaluate the first derivative at x = -3 from the
following table:

x: 3 -2 -1 0 1 238

y: -33 -12.-3 0 3 12 33

UNIT-III

dx

1
Evaluate jﬁ? using Trapezoidal rule, taking
0

h = —. Also, obtain approximate value of .

1
4
Using Euler modified method, obtain a solution
d Y ¥ 5 .
of Ey='x+|\/}—’l, y(0) = 1 for the range 0 < x < 0.4
in steps of 0.2.

Solve the differential equation y' = x — y% by
Taylor series method for x = 0.2, under the initial
condition y(0) = 1, h = 0.2.

Apply the fourth order Runge-Kutta method to

d Sy
. solve A x2 4+ y2 y(0) = 1. Take the size

dx

h = 0.1 and determine approximations toy(0.1)

- carrect to four decimal places.
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. UNIT-IV

gk (sint) 'smat
e (o) i L(S;T‘t)’ and hence find L( : )

1w’ R
77

- (b) Find the ; inverse Laplace Transform of \

st +4q%-
" .

‘8. (a) Obtam the 1nverse Laplace transform

1 :8+2. .~ FN B o
] s+1°

of

- (b) Use Laplace t'ransformation te

chnique to solve
the following d1fferent1a1 equ

ation:

(D -—3D+2)x—1—e2"

x(0) =1 %0 =0
(‘.

_M+V/170/I/2014-15/400/Z_Z/137 4

Scar‘m‘e.d by CamScanner



